o [1[J

1o 200000

20210 80 50

100000 1000boo

*

*

*

0020200 11000
0020210 6000
ooooooooooooDo

2000013000000000000000000A0

*

*

*

U0 pip3 install jupyter
U0 pip3 install jupyterlab
0000900 JupyterLabO OO O OO

2000015000 Jupyter 0 JupyterLab 000

*

*

*

0 O MatplotLibO PILO Jupyter” 0000000
0 O MatplotLibO PILO JupyterLab® > 0000000
0002000 130000000000

200000 5000000

*

*

*

O O Jupyter Notebook O O O
O O Jupyter Notebook O O O JupyterLab O O O
0bod2000 130001b0000000000

J0b00bedO0O0DbOODbObOOODODOOODnDO

*

*

*

Oooooooooooo

00 Raspberry Pi4000 400001000000.6 VPython 00000 Raspberry PiO O
OO0o0ooo0ooooooooooooo

0003000 130000000000

300001300000000 JupyterJO0O0OOOOOOO

*

*

*

00 sudo apt install jupyter
omooooo
00000000000 VPythonOOOOOOOOOOOODOOOODOOOOOOO

3000016000 Jupyter 000

*

*

*

0 O SciPyO SymPy0 MatplotLibO Jupyter 000000 O
0 0O SciPyO SymPy0O MatplotLib 0O 00000
0003000 13000000000 on

J0ooo0o0enOSOOO0OOOOOOOOO

*

OO0000D0D0O0OD00000000000 Raspbian Buster with desktop and recommended software
0000000 August 2020000
00000000 Raspberry Pi OS (32bit) D000 O0DODO 2021-05-0700 0



*+ 0000OSO0000000OD0O0OO0DOO

—10,11 00000000000
* 00000 Raspberry Pi4 Model BOO 3DO000000O0O0O0O0O000O0O0O0ODODOOOVPython
O000000o0o00obooO0oobobobepti0bbO00oDOo0o0oDOoooooooooooooooo
O000pip0 00000000000 0O00O00O0Python20 pip000000000O0O0OOO0O
OO0 pip3000CC0OOCODOODO

sudo pip3 install --upgrade pip
sudo pip3 install vpython

Oapt000000000000000000000000000pip0000000000000
0000000000000 000000000000000VPythonDDODOOO000O0O0O00O0OO
0000000000000 VPython 0OOOOOOOOOOOOOOOOOODapt000000
0000000 Jupyter 000000000 D pip00000000000O0DO0OO00OOODOO0O
U220 VPython 0000000000000 0000000O0O0O0O0OOOOOO Raspberry Pi 30
00000000 VPythonOOOODODODOOOOODOOOOO0OODDORaspberry PiOSOO0000
000000000 OMathematica 0000000000000 0O03D0O000O00O0O0OO0O0
000000000000000000000

* OO0 Raspberry Pi4/400 000000000000 0VPython 0000 O Jupyter Notebook 0 0 [
O0Dapt000000D00000000OOODOO0O0000O0OOODOO3000000000
000000000000000000000

python3 -m pip install --upgrade --user pip
python3 -m pip install --user jupyterlab
python3 -m pip install --user vpython

O Python 0000000000000 O0O0OO0OOOOOOOOOODOOOOOOOOODOODOO
O0000000apt00000 pip0000000000000O0O0D0O0O000O0OODOO0O0OO
000000000000 000000000000000000000000000000000
OO0 pip00000 apt 0000000000000 00000000000000O0OOOOOO
9220 Raspberry Pi30 0000000000000 0ODOVPython O Jupyter Notebook O 00 0 [
0000000000000 Raspberry Pi OS OO0 Mathematica 0 Recommended Software 0 O O
O00D0O0000Raspberry Pi30000000003DO0000000000000000000
0000000000000
+ 0000000000000 00D00000000000

— 1100000 2200000000

*+ 0000000000000 000000000000000000VPythonOOOOOQOOOO
ooooo900poOoOoOoOoOoOooOoOoOoOoOoOoOoOoOOOOO0OOVPython O Raspberry Pi40 D000
oobobooooooobooboboooooboooooboboobobobooobooboobOobobooo

* 00 VPython OO0 Jupyter 0000000000000 O0DO0O0O0OO00OO0DOOOOOOOODOO
gbobooooobooboboooboogboboboooooboboboboooobooboboboo
goboobbobbooboobboobooboboobda

+ J00000O0oooog

—-1800001101300000000
* 0000 Notebook 00000 notebook/00000000NOOOO0VPython OO0 Newl [ [J
0000000000 VPythonDOOOOOOOOODDODOOO0O00O Y 20Python30) 0000
00000 Notebook My2ndNotebookOD DO OO O ODODOOOOOOO 2500000000000



*

— 18,

*

0000 Notebook 00 00O notebook/0 0 00 O0OOO Notebookd My2ndNotebookD O 0O O
ooo
O00VPythonOODOOOOOOODOOOOOOOOODOOOOOOOOODOODOOOOOOOOO
ooooooooo

1900000000000

O0macOS 0000 ONotebook 00 VPythonOO OO OO DAnacondaD 000000 0OOOOO
000000000000 000000o00000o0o00000o0On macOS O Raspberry PiO
Jupyter 0 VPythonO OO OO ODO0OO0O0OOODO 7.6.100000000000000ONotebook O
00000000000 Notebook DO VPythonOODDODODOODOO0OODOOOOOOOOOO
O0DO00ooooOo VPythonOODOOOOOOODO 75.10000000000000000000O
000000000 0Raspberry PiOO OO pip3 0000 sudo pip3 0000000 M

pip3 install vpython==7.5.1

O PythonOOOOOOODOODOOODOOOODOOOOODODOOODOOOODDOOOO Notebook O
000000000000 00000000000 NotebookOODODOOODOOODODOODOOOOO
000 8000Raspberry Pi 40 Notebook OODOOOO VPythonOODDOODOODOOO

00000 Jupyter Notebook DO OD0OO0O0 WebODODDOOOOOO JupyterLabOO OO OOOO
OO0 Anaconda3 00000000 JupyterLabD O D OOOO0O00O0O0O0O0O0OOOO jupyter-labld
O000jupyter 1labl OO0 0000000000000 O0JupyterLab0 00000000000
0000000000000 00ONode.js00000000000000O00OOOODOODOO0OO0O
0 O Node.js O https://nodejs.org 0000000000000 Windows 0 macOSOOODOOOO
00000 ORaspberry Pi 4/400 0 0 Linux Binaries (ARM) 000000000 Y 250 JupyterLab
O VPythonODOOODOOOOOOODOODOODOOODOOODOO

jupyter labextension install vpython

O JupyterLab O Notebook O O Jupyter Notebook 0 00000 VPython 00O 0O O0OODOO0O M
pip0000000O Node.js 0000 jupyterlab-vpython 00000000 OOOOOOOOO
labextension U0 00000000 0O0O0OOOOOOOOOOOOOO

OO0O0JupyterLabO0 00000000000 Q

— 1800000 2500000000

*

*

*

ggoodobooboobobooboobboooboobooobuooboobo
00320000 ARMv7OOOOOOOOOO0OOD0OOOODOO0OOODOOODOO
goboobooobooboobn

- 190000000000000000000A0

ES

od

OO Notebook OO O VPython OO OO OOO Raspberry PiDODODDOOODO



e e ———

@
‘"
m

00O Raspberry Pi 000 JupyterLab O OO 000000 VPythonOOOOOOO

* 000 JupyterLab0 00000000

— 2300000 2700000000
*+ 000900000 VPythonOODOOODOODOOOODDODOOOODODOOO

* D0pip00000000vpython==751000000000000000000000000O0

+* J0oooooooogo

e J000DDODDODODO PythonOOOOO
—46000000000 lenal.py0 000 14000000000

* O0return (yO * (-1+2*j/(n-1)), x0 * (1-2%i/(m-1)))
* JOreturn (x0 * (-1+2xj/(n-1)), yO * (1-2%i/(m-1)))

+» J00o0o00ooooooooooooooood

—-4800000 1.300000

(0,0
N\ o v/

x 00

Yo \
(m—1,n—-1)

(m—1,0)
A[0,n-1]

* 00
A[0,0]\ ,

Alm-1,n-1]

Alm-1, 0]

+ JO0O0ooooooooog



o 1010

goboobogoo

- 65000000000 cfunc.pyDOOOOOOOO

© 00 N O U e W N =

=
o

© 00 N O U W N =

=
o

*x 00

from numpy import exp, pi, linspace
import matplotlib.pyplot as plt
from mpl_toolkits.mplot3d import Axes3D

f = lambda n, x: exp(lj * n * x)
x = linspace(0, 2 * pi, 1001)

ax = Axes3D(plt.figure())
for n in range (-2, 3):

ax.plot(x, f(n, x).real, f(n, x).imag)
plt.show ()
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from numpy import exp, pi, linspace

import matplotlib.pyplot as plt

f = lambda n, x: exp(lj * n * x)
x = linspace(0, 2 * pi, 1001)
plt.subplot (111, projection=’3d’)
for n in range (-2, 3):

z = f(n, x)

plt.plot(x, z.real, z.imag)
plt.show ()
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In [1]:

from numpy import exp, pi, linspace
import matplotlib.pyplot as plt
from mpl_toolkits.mplot3d import Axes3D

f = lambda n, x: exp(1j * n * x)
x = linspace(®, 2 * pi, 1001)
ax = Axes3D(plt.figure())
for n in range(-2, 3):

ax.plot(x, f(n, x).real, f(n, x).imag)
plt.show()

<ipython-input-1-74b63c9e24f5>:7: MatplotlibDeprecationWarning: Axes3D
(fig) adding itself to the figure is deprecated since 3.4. Pass the ke
yword argument auto_add_to_figure=False and use fig.add_axes(ax) to su
ppress this warning. The default value of auto_add_to_figure will chan
ge to False in mpl3.5 and True values will no longer work in 3.6. Thi
s is consistent with other Axes classes.

ax = Axes3D(plt.figure())
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14 [if __name__ == ’__main__"’:
15 import matplotlib.pyplot as plt
16 from mpl_toolkits.mplot3d import Axes3D
17 k=2
18 t = arange(0, 1, 1 / 1000)
19 x = [z.real for z in e(k, t)]
20 y = [z.imag for z in e(k, t)]
21 fig = plt.figure()
22 ax = Axes3D(fig)
23 ax.scatter(t, x, y, s=1)
24 ax.plot(t, x, y)
25 plt.show ()
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14 |if __name__ == ’__main__"’:

15 import matplotlib.pyplot as plt

16

17 k=2

18 t = arange(0, 1, 1 / 1000)

19 x = [z.real for z in e(k, t)]

20 y = [z.imag for z in e(k, t)]

21 fig = plt.figure()

22 ax = fig.add_subplot (111, projection="3d")
23 ax.scatter(t, x, y, s=1)

24 ax.plot(t, x, y)

25 ax.set_x1im (0, 1), ax.set_ylim(-1, 1), ax.set_zlim(-1, 1), plt.show()
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from numpy import array, random, linalg
* 00
from numpy import sqrt, array, random, linalg
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n = 10
x1 = [random.uniform(-0.5, 0.5) for n in range(n)]
x2 = [random.uniform(-0.5, 0.5) for n in range(n)]
x3
x4 = [random.normal(0, 1) for n in range(n)]
A = array([[1, O, 1, O],
o, 1, o, 111

[random.normal (0, 1) for n in range(n)]

* 00O
n = 20
random.seed (123)
x1 = random.uniform(-sqrt(3), sqrt(3), n)

x2 = random.uniform(-sqrt(3), sqrt(3), n)
x3 = random.normal(0, 1, n)
x4 = random.normal(0, 1, n)

A = array([[1, O, 1, 0], [0, 1, O, 11D)
* 000308000000 7000000000000 0O000000O0O00ODO0D0ODOO estimate2.py
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[lx-yl |72 = 1.7952353126663972
| 1x-z| "2 = 0.36093586643070026
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[ 1x-y|1°2 = 2.414280376687304
[ lx-z| "2 = 0.7913634686181286
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